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1]

5 df = read.csv("Data4.csv")

6 df

7

8 #M 1

9 cl1 = c(df[1,1], df[8,1], df[15,1],df[22,1])
10 cl = df[df$Temperature==24,1]

11 cl
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5 2[H

e 29 HFZ = data. frame(matrix(nrow=4, ncol = 2))

17 df = data.frame(matrix(nrow=4, ncol = 2))

18 df[1,1] =11.48886 g? jﬁ;%g’ig B jiE;’i%
19 df[2,1] =10.68633 32 e ’

20 df[3,1] =10.01386

21 df[4,1] =13.30461

22 df[1,2] =15.09553

23 df[2,2] =15.09553

24 df[3,2] =15.45261

25 df[4,2] =17.67019

26 df

27 t.test(df[,1], df[,2])
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5 3[E

g . 44 #fE3
v 45 df2 = df[15:21,]
< 46 df2 = df[df$pH==8, ]
47 gg = ggplot(df2, aes(Temperature, Dry_weight)) + geom_point()
oo 48 gg
;:2’:‘3-: 49
-t X 50 plot(x = df2$Temperature, y = df2$Dry_weight)
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Pearson's product-moment correlation

A4

53 df2 = df[15:21,] data: df2[, 3] and df2[, 1]
t = 9.8692, df = 5, p-value = 0.0001821

54 df2 alternative hypothesis: true correlation is not equal to @
55 cor.test(df2[,3], df2[,1]) 95 percent confidence interval:
6 0.8368162 0.9964806
5 sample estimates:
cor
0.9752806
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5 5[H

Coefficients:
57 #R5 Estimate Std. Error t value Pr(GItl)
58 res = Im(data = df, formula = Dry_weight ~ pH) (Intercept) 9.3014 2.2543  4.126 0.000336 ***
59 summary(res) pH 0.5832 0.2973 1.962 0.060566 .

60

Signif. codes: @ ‘***’ @.001 ‘**’ 9.01 ‘*’ 0.05 ‘.’ 0.1 ¢’ 1
Residual standard error: 1.759 on 26 degrees of freedom

Multiple R-squared: 0.1289, Adjusted R-squared: 0.09545
F-statistic: 3.849 on 1 and 26 DF, p-value: 0.06057
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5 6[H]

Coefficients:

Estimate Std. Error t value Pr(>1tl)
(Intercept) -9.53345 2.90738 -3.279 0.00300 **
Temperature 0.69759 0.09622 7.250 1.35e-07 ***

66 #[ 6 pH 0.58324  ©0.17212 3.388 0.00233 **

67 res3 = Im(data = df, formula = Dry_weight ~ Temperature + pH) _—

68 summary(res3) Signif. codes: @ “***’ 0.001 ‘**’ 0.01 ‘*’ 0.05 .’ 0.1 < * 1
69

Residual standard error: 1.018 on 25 degrees of freedom
Multiple R-squared: 0.7192, Adjusted R-squared: 0.6968
F-statistic: 32.02 on 2 and 25 DF, p-value: 1.271e-07
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